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QUESTION 1

Click on the exhibit below. 

Based on the output below which of the following statements is true? 

A. This Bridge is furthest from the Root Bridge within the VPLS mesh. 

B. This Bridge is the Root Bridge. 

C. SAP 1/1/1 is an Edge Port. 

D. This Bridge is closest to the Root Bridge within the VPLS mesh. 

Correct Answer: D 

 

QUESTION 2

Which of the following is NOT a feature of the IEEE 802.3ah EFM standard? 

A. Discovery and auto-negotiation of OAM capabilities. 

B. Link monitoring via event notifications. 

C. Remote failure indication (RFI). 

D. Remote Loopback E. Latency and jitter across a service. 

Correct Answer: E 

 

QUESTION 3

What is PBB also known as? 
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A. H-VPLS 

B. IEEE 802.lag 

C. MAC aggregation 

D. MAC-in-MAC 

Correct Answer: D 

 

QUESTION 4

Five VPLS services have been configured between two PE routers. What is the minimum amount of SDPs that must be
configured? 

A. 5-one for each service. 

B. 2-one in each direction. 

C. 10-five in each direction. 

D. None of the above. 

Correct Answer: B 

 

QUESTION 5

H-VPLS solves the data-plane and control-plane problems with the exception of one issue. What is the concern that H-
VPLS does not solve? 

A. Increased LSP count. 

B. Number of TLDP sessions. 

C. The amount of network touches. 

D. FDB consumption. 

E. Increased bandwidth and replication. 

Correct Answer: D 
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